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441.0 23:19    expT = 30 s   Kp=3.3    moon=0.99
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440.0
440.5 23:25    expT = 30 s   Kp=3.3    moon=0.99
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440.0
440.5 23:31    expT = 30 s   Kp=3.3    moon=0.99
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440.0 23:38    expT = 30 s   Kp=3.3    moon=0.99
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439.5
440.0 23:44    expT = 30 s   Kp=3.3    moon=0.99
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439.5 23:51    expT = 30 s   Kp=3.3    moon=0.99
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439.5 23:57    expT = 30 s   Kp=3.3    moon=0.99
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440.0 00:04    expT = 30 s   Kp=3.3    moon=0.99
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00:10    expT = 30 s   Kp=3.3    moon=0.99
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00:17    expT = 31 s   Kp=3.3    moon=0.99
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00:24    expT = 40 s   Kp=3.3    moon=0.99
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440.5 00:31    expT = 42 s   Kp=3.3    moon=0.99
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440.5 00:39    expT = 46 s   Kp=3.3    moon=0.99
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441.0 00:47    expT = 51 s   Kp=3.3    moon=0.99
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441.5 00:54    expT = 57 s   Kp=3.3    moon=0.99
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442.5 01:02    expT = 60 s   Kp=3.3    moon=0.99
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442.0 01:11    expT = 63 s   Kp=3.3    moon=0.99
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447.0 01:19    expT = 80 s   Kp=3.3    moon=0.99
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447.0 01:29    expT = 77 s   Kp=3.3    moon=0.99
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446.0 01:39    expT = 70 s   Kp=3.3    moon=0.99
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446.0 01:48    expT = 78 s   Kp=3.3    moon=0.99
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447.0 01:58    expT = 81 s   Kp=3.3    moon=0.99
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449.0 02:09    expT = 104 s   Kp=4.0    moon=0.99
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448.5 02:22    expT = 107 s   Kp=4.0    moon=0.99
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457.0 02:34    expT = 101 s   Kp=4.0    moon=0.99
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448.0
448.5 02:46    expT = 97 s   Kp=4.0    moon=0.99

0 100 200 300 400 500
453.5454.0454.5455.0455.5456.0456.5457.0457.5 02:57    expT = 111 s   Kp=4.0    moon=0.99


